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WUS - 3 / SECTION - A
Eﬁﬁ&x W31 / Objective Type Questions
T WS 18 1007F F uyT & 5 aw frew fry ww # fad @ w adh
§1 R so v & I &1 o gwr 7 v @@ fiwer #t omr iz 77
fafeaT &7 50 x1=50
Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet. 50x | = 50
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o12s 35] (B) [10 35}
~ 19 45 19
(C) [11 40] (D) [45]
3 Ia i tan6dO =
@ 9 B)
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I\V\\\\‘ cosec 0 - cosicot 0 )do
(A) log cosec(+ cot0 + K (B3) cosec cotO k
() k+sm0 M) O+h
I (4cosx-5smx)dy=
(A} k+4sinx+5cosx (B)  k-4sinx-5cosx
() k+4sinx-Scosx (D)  k-4sinx+5cosx
[ 3cos x-2sinx
. - dx =
¢ 2cosx+3sinx
(A) 2cosx+3sinx+k (B) log|2cosx+ 3sinx|+k
(C) tan_1(3s'm%) +k (D)  2tan %+k
3x%+2
J55 aes
X~ +2x
A). sin!(x3+2x) +k B) tan !(3x%2+2)+k
(C) log|3x?+2|+k D)  log|x3+2x|+k
J’ dx _
x> +5
(A) tan” Z+k (B) tan™! X + k
1 > ‘/g
. ] -1 X -1 x
(C ——=tan  —=+k D St ——+Kk
) 7 = (D) JStan 7
{3+ x
I log | ~ Jd)(
-1 \ 3-x
(A O B)
(C) 2 log 3 (D) 3 log 2

{IN'I A>2f5/25)()| (1/10) Page 4 / 32



: [121/327 |
1. %jo x3dx =
81
B T (B) 223
€ o ® 2
4
1
12. jsin” x cos® x ax =
-1
12
@ = B 0
© 1 3
D <
1 .
13: Ix17cos4x dx=
-1
@A o B) 1
3 14
©r 1= & <
14. 3[ Jx dx =
(A) '%x3/2+k (B) 2312 L4
€ 3x3%+k (D) %xa/2+k
x+2
15 i =
[=#%
C(A) log| x+2|+k (B)  log| x2-4|+k
2
(C) log|x-2]|+k D)  log| ;‘i2| + k
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18.

19.

20.

21.

D A e

[

V1-9x?
-1 )
(A) tan"!3x + k (B) sec” 3x+k
-1
(C)  sin”'3x+k (D)  cos” 3x+k
ZSIsec Sxtan5x . dx =
(A)  25secSx+k (B)  Ssecdx+k
(C)  25tanS5x+k (D) secSx+k
Isec2 4x dx=
(A)  tandx+k (B) %tan4x+k
(C)  4tandx+k (D) 8tand4x+k
e
k . ( l + _] ) =
© 2 D) -1
IL -
14—36)52
-1
(A) 6tan” 6x+k (B] 3tan_16x+k
| |
{C) gtan 6x+k (D) tan_] 6+ k
. 3X 4. _
ISlanx_
_3 e 3x
(A)  k=-3cos (B)  k+ %Cos %x
L8003
(C) k 5 COS 2 D) k+%c055{7x

l INT-A-23/250] -(1/10)

l l2l/,)

3y

page 6



s
W

-

A +-l-i-tam
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b
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-

h)
K+ == tan

14\ dx=

x¥-3x 2 4k

I e (cosx-sinx)dx =

(H)

(D)

()

()

(B)

(D)

(B)

(D)

(B)

(D)
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28.

29.

30.

31.

32.

‘ It—z’(x3+3x2]d)‘:
: 0
(A)  3x%e* +k B et
x 3
Q) At (D) 3e* . x7 +k
eX(_l_.__l_.) dx=
I X 42
W Lerik B\ +X
1
© k-Llex D) . kepe
, x
— - g
3k .(13i-7k)=
(&) 39 B . x0
© -21 (D)1 48
d . 4x.,
AT 5 )=
3 pedx B -feos
A 2 cos ¥ (B) 5 OS¢
5 4x S 4x
€  FeosZ 0. g0
d 3x ) _
d_x'(QCOST)—
S 3.3
A -2sin=— -gsin=
( ) 198 4 (B) 8511‘1 4
(©) _—4‘3 3111941 (D) _73 sin %
d (-3
Sleh
-3x
. -3x
A B =
c 3 D) -3e
_/

INT-A-23/2501 -(1/10)
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e —— x ——
33. dx(u )_
x=1
(A)  x11 (B)  11%.log x
(€)  11%. logll 11*
(b} log11
d 1
4, =|—="1I=
3 dx(Sx—Q)
-1
(A) B ——=3
(3"‘2)2 (3x-2)2
3
c —3 3
= (3x-2)2 U P
35. M x=acos26, y=bsin2e, al g—f’c FHH &
b b
AW < a B -2
©  Bsin2e D) =Ptan2e
a a
If x=acos? 0, y=bsin29 then the value of % is
b _b
(A) o (B) a
b _. -b. 2
(C) 2sin20 (D) ~—-tan”6
a
36.  FFIHA FHIEH x2dx+y>dy=0 &I &A ¢
) S+yd=k B) x*+y’=k
€ x*-y?=k D) X -y’=k
INT-A-23/2501-(1/10) Page 9 / 32




38.

39.

fl)u:

"’

) 2w + 12dy =0 is
, Adx+ytary

The solution of the differential cquation X

2,7 -k
A SBeyd=k B Y

3_ -k
> o >
(J-20) (k+3i-]j)=
(A) 0 (B) -6
) -7 | (D) 8
HThA FHE 3 dy + eV dy=0 F &A@
(A) e B) e +e*Y =k
(C) %e‘%‘ +%e4y =k D) €3 +etV edr+iy

The solution of the differential cquation e3¥ dx + e*V dy=0 is

(A) ek B) €3 +e% _j

(C) %€3x+ie4y—k (D) e3* 4%y 4 g3x+dy =k
I T d);‘\&‘1‘73/—0 HEA ¥
A xeky B L1,
X'y
C) xry=k D) xy=k

The solution of the differentia] ¢quation dx  dy

+— = 1<
¥ 0 1is

y
(A) x = ky (B) 1 . ln:,\
Yoy
I N (ST
INT A 3375557 TN ———
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dy
SE NS W:ﬂm ——-u SINX=cotx & HHTEH A '_["M, !
Al sinx (B) e Sinx
\C‘ eSln\

(D) eCOSX

The integrating factor of the differential equation 2y sinx=cotx is

(A) sin x B) o Sin X
(C)  eSinx D) ecosx
FIT FHET y —Sx T FHIHCTH TR 4
A) % (B) 2"

O S D

The integrating factor of the differential equation i—z+27y=5x2 is

& 2 B) 2"
X

(C)  2logx D)  x2

—
(A) —147 (B) 14 j
g i
(C) 11_1?—2;: (D) 2k -111
1 -2 +2k | =
(A) 3 (B) 6
cy 7 D) 5

e ———————— e —
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45.

46.

[ 121/327
T X+ 2y - 324 15-0 % ferd & o 3T &
(A) 1,2,3 B 1,-2,3
(C) 1,2,-3 (D) 1,2, 15

Direction ratios of the normal to the plane x+2y-3z+15=0 are

(A 1,2,3 B 1,-2,3
€ 1,2,-3 (D) 1,2,15
WA @ Xl _y-2_2z2-5
3 =222 & s argum @
(A) 1,-2,5 B) 3,2,5
€ 3,36 (D) 1,3,5
The direction ratios of the straight line x; Ly ; < ng are
(A) 1,-2,5 B) 3,2,5
(C) 3,3,6 D) 1,3,5

W v A0 YD 298 e d @ e fig @

101 102 103

ToRA & 2
(A) (101, 102, 103) (B) (98,99, 100)
(C) ( 100, 99, 98)) (D) (99, 100, 101 )

Through which of the following points does the straight line
x-100 Y-99 2z-98

- = ?
101 102 103 Pass
(A) (101, 102, 103) (B) (98,99, 100)
(C) (100,99, 98 ) (D) (99, 100, 101)

[INT-A-23/2501-1/10) Page 12 / 32
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> s » - -
37 (101 + ;4 K)x(=41+7 1-11k)=
-+ -» - > . -
(A =181 +106 j +74 k (B) 181 -106 j-74 k
- - and - -» ~» -»
(Q) 181 +106 j +74 k (D) St -6 -7k

48. -C;i—\_(,t3+e")=
(A)  3x? (B) 3x2+3e"
(C)  3x?+ et (D). 3x2e*
49. %(_tan:wsin2 )=
(A) Sec x +2sin x cos x (B) sec? x+cos? x
(C) sec? x +2sin xcos x (D) sec? x —2sin x cos x

so. 42 e5’€)=

dx?
(Ap e (B)  10e5*
(C) 5e°% (D)  25e5%

51. A 2 Wi w@na % i o x, 5,3 791 20, 10, 6 % A x A 2

(A) 10 B) 5
(C) 3 (D) 40

If the direction ratios of two parallel lines are x, 5, 3 and 20, 10, 6

then the value of x is
(A) 10 By 5

(C) 3 (D) 40

. - {IN’I‘ A-23/ 2'5?(m1/1op‘| .
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54.
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v ~ a,c
~ N . CoN b, ,C % Fﬂ 172 -
g 31 W @ & o e ap,bpep O d20P2 02 o,
(A by B) b
€ by D) 4

: ; . : ,c, and a,,b,,c
If the direction ratios of two parallel lines ar¢ a,,by, ¢ 22722

then —1%2_
A b B) b
(C) by (D) ¢

I 3 wER o Y@e % R s 2, 3, 5 T x, y 4 g ar
2x+ 3y = |

(A) 20 (B) -20

(€ 30 (D) -30

If the direction ratios of two mutually perpendicular lines are 2, 3, 5

and x, y,4theri 2x+ 3y =

A 20 B) -20
(& 40 (D) -30
137-47-5k|=

(A) 542 B) 12
c 2 | D) 9

[Q_a—7 1]=[a b—l]:> (a,b)=
A (1,7) B)  (2,7)

cy (7,2) D) (2, 3)
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1 ] 5 |
1 4 O . ‘ .
S 10 ““1
A 264
- )
12 -1
V 1S 4 1=
176 \
(A) 0
)y -1
58 \—sine cos | _
T sect cosecO| ™
A} 0
) -2
B Tk oW 2 -3
59 4'..0 1] [0 4]-
ONEE
r .
{Cl (3) —g
0. [6 5] _‘1]-_-
xl\} [6 _5]
Cro 1]
(<110 -1]-
Q; lU]

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

12
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62.

63.

64.

65.

[ 121/327
7 -2

[ ]-

21 -6 7 -2
(A) [8 0] (B) [24 0]

21 -6 21 -2
©) [24 o] (D) [s o]
I x+y< 25, ;; 8 ¥ AT Zo6x+3y H1 FUHTH THE
(A) 150 (B) 225
© 425 D) T A B T
The maximum value of Z=6x+3y subject to constraints

x20 .

x+y< 25, y2 0 1S
(A) 150 (B) 225
(&)} 425 (D)  none of these

A x+y< 13, x20, y20 & A Z=x-3y & AuHAT AF &

(A) 39 B) 26
C 13 D) -26

The maximum value of Z=x-3y subject to constraints x+y<13,

x20,y20is
(A) 39 B) 26
(C) 13 D) -26

SR 3x+4y< 24, x20,y2 0 F AT Z=7x+ 8y F1 ZAaH HH &

(A) 56 (B) 48
c O D) -12

INT—A-23/2501-(1/1(7|:| Page 16 / 32
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67.

68.

69.

70.

The  mitmuim  value  of
A Ay 29, a0, o 0s
(/\) 50
() 0

(21 3000k
(A) 2
€ 3

| x|<1, 2tan” ! x =

(A)  tan”'2x

1 2x
14+ x

(€) cos~

2

x € R, cot™! x -

(A) »;— ~sin ' x
(C) —;— tan"l X
tan—l(-——x i y ) =

1 - xy
(A) sin'l(x+y)
(€) tan!(x+y)
sin”! ( sin %’5) =

n
(A) 3

. S5n

(C) o

Z - Tx 8y

(1)
(D)

(B)
(D)

(B)

(D)

(B)

(D)

(B)

(B)

(D)

aubject o

48

cos™} (x+y)

1 1

tan” x+tan 'y

L3
6

[121/327 |

constraints

|lNT-A—23/2501-u/10|
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73.

74.

75.

'illl{ Hin ' |’
' m o
(A) ! ) )
(©) */;‘ 0
sin v owin l‘l/
(A) SN l{ l 4 l/\/l J}
(B)  sin”! { Jl - r/ b1y Jl . }
(C) sin- l{x I+ 1/ +y Jﬁ;[}
(D) sin'l{x‘/1+y2—y l+x2}
X€ [—1 l], sin[2(sin"x+ccm"x)]~z
(A) 0 (B) 1
|

C -1 D 2
(C) (D) 2
x € R, cosec(tan!x + cot™! x ) =
(A) 0 B) 1

2
C D 2
(C) 5 (D)
x|z 1, tan[é(tan ‘x+cot -1 )J:

] .
A i -
(C) 0 (D) ]

INT A- ?3/2 501-(1/10)
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—\e' + cosSx | =
dx *

(A)  e“+cos5x (B) e*+5sin5x

(C)  e*-5sin5x (D) e*-5cos5x

a(sxn2x+e" -cos x) -

(A)  cos2x+e* —sinx (B) 2cos2x+e” +sinx

Q) 2008 2x +€* —sin x (D)  -2cos2x+e* +sinx
d (1

ax ( 3 sec 4x) =

(A) sec4x. tan4x (B) sec? 4x

(C) tan®4x (D)

— . 4
16sec4x tan4x

Ed;(loge 10x)=

1 10
A {ox B =
(C) 10x (D) %
A 3x-4y+6z=11 7 I&t a5 A @
11
A B
4
‘INT-A-23/2501-(1/10) Page 19 / 32
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Distance of the plane 3x-4y+6z=11 from origin 18

3 11
A == B -
6 4
G —— D -
' A Y
81. T x-8y-9z=12 % WK T el Hl GHIF &
(A)  x+8y+9z=12 “(B)  x-8y-9z=2023
(C) 8x-y-9z=12 (D) x-9y-8z=12
Equation of a plane parallel to the plane x-8y-9z=12 is
(A) x+8y+9z=12 (B) x-8y-9z=2023
(C) 8x-y-9z=12 (D) x-9y-8z=12
- 2 .
82. (Bi=4k)=
@A 1 (B) 25
< 7 (D) 49
83. ¥ 37-9; @ faew o s whew &
A< - o
3i-9) 3i-9;
A ey oo B S J
(A) - (B) =
37-9 r iy,
(€ & =f_j
/o0 70
The unit vector in the direction of vector 37_9_; is
37-97 +
— 1 ; -5
(A) —i:gii B 3i-9;
C N e
v70

1N1‘»A-23/2501--u,13.“\\r*—’2
age 20 / 3
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- o e SR '
84, [I"J+k].(7i—8j+9k)=
(A) 22 B) 23
€ 24 (D) 25
g5, THOA 3x+4y+5z=13 TR x-3Y W ST 747 HIEE &
3 13
A = 13
(A) 13 (B) -
13 13
CjT A 13
(€) m (D) =

The intercept cut off on x-axis by the plane 3x+4y+5z=13 is

o 2 w2
() % i (D) -15§

6. o T e by ez +d=0 F R @ H=f-L A
(A)  a+2b+3c=0 (B) —a+2b+3c=0
(C) 3a+b+2c=0 (D) mﬁaﬁzﬁé

If the line —)5—=%=-‘% is parallel to the plane ax+by+cz+d=0 then

-1
(A) a+2b+3c=0 - (B -a+2b+3c=0
{C) 3a+b+2c=0 (D) none of these

‘INT_A_23/2501—(1;101 Page 21 / 32
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afg a1 e WX ADY +opz + dy =0 T agx +hyy +epz+d, =0 T

o g o)

oo
~3

b ) a b c 4
(A) -(-‘J-:z—-l.r;-(l (B, .E.L.',B.L.'.EL_O
Q by o 2% 23 ¢
(€)

aa, +b]b2 +clc2 =0 (D) m ﬁ aﬁé qﬁ

If two planes ax +by +¢z+d, =0 and ayx +b2y tCyz+d, =0 a

Mutually perpendicular then

w Ak _gf
C

b
- B A.d.8 .0
a, b,2 a b,

2 2 Py G
(C) a,a, +b1b._, +cc, = (D) none of these
- > o - S -
8. (Mi=7)-k). (87 -j -5k)=
(A) . 95 (B) 100
(C) 400 (D) 88
89 P(A):%,P(B)=T9T, PANB)={-= p(a/p) -
7 . 4
(A) Y (B) )
13
€ 1 (D) 25

0. PE)=3, P(F)=3, PEUF)=2 = pENF) -

(A)

~If 4=

(B)

~1f—

(D)

~Njw N

)
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a1, A9 A HR B wdy VI @ PA)-0.3 aen P(B)[L) 3 ‘ﬁ ;’ﬂs

PLANB) -

A 012 B) 021

(C) 0-75 (D) 07

If A and B are independent events, P(A)=03 ~and P(B)=0-4 then
P(ANB) =

A} 012 (B) 021

C) 075 (D) 07

92, W‘E[}i 3] T TEEEH A

4 -2
A 4 -3
A [— 3 1] B [—2 1]
: 4 3 4 2
© [ N 1] D) [ : 1]
. . 1 2].

The adjoint matrix of matrix [3 4} 1s

- 4 -3
w37 e [

a 2
(C) [; 31] (D) [3 1}

> 4 5 X :
03k uw @ F i B o= #W#ﬁﬂ*.rwwm%
A) 6 ® 7

(C) 8 (D) ?

- @T-A-za'zsm-unm Page 23 ' 32




If the direction cosines of a line be J;—7’ -J—g—':; and ' J’% £hen & Falue
of x is
A) 6 (B) 7
€ 8 Dby 9
94, ITig A=[(1) (1’] q A% wIHE R
(A) 254 (B)  24A
€ 24 D) A
If A=[(1) (1’] thefi Yge Yhiue of 4251
(A)  25A (B) 24A
)« Y2) D) A
95.  Fig HihAT ‘o', aob=3a+b ¥ INWRE B & (2 6 3) o5 =
(A) 28 (B) 32
(C) 36 (D) 22
If the operation '0' is defined as aob=3a+b then (203)0 5 =
(A) 28 (B) 32
€ 36 D) 22
96. a% A={1,2),B={a,bc} T AV B | Fomi N Pl dET
(A) 9 (B) 12
(C) 64 D) ¥ ¥ FE
If A={1,2}, B={a,b,c} then total number of functions from A to Bis
(A) 9 (B) 12
(C) 64 (D) none of these

[121/327)

lNT—A-23/2501~u/10'
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aT.

99,

100

(1217327 |

W A={a. b} B={1,23 )0 A Y B v&F wAN F) FA T2
(o B) 8

9 (D) FH | & T

If Az{a‘ b }, B={l, 2,3 } then total number of one-one functions

from Ato Bis
(A) 6 B) 8

< 9 (D)  none of these
HTHT FHHIT dx +dy=0 F1 & &
(A) x=ky (B) X2 +yl=k

() x+y=k (D) xy=k

The soluﬁon of the differential equation dx+dy=0 1s

(A) x=ky ' (B) 2+ y2 =K
(C) x+y=k (D) xy=k

- -

i .1 =

(A) O B) 1

(c) -1 15) B

-

jxi=

(Al P (B) A

() 0 (D) |

T FNT A1/ 2001 uzum] Page 23
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Uz - F / SECTION - B

[121/3;

g ﬁfm W34 / Short Answer Type Quutions

yT & 90 2 dF fAamiT &

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions. E:

gquestion carries 2 marks.

|

S

4

T y=cos(tanJx+1) Gl %‘% EIGE: T8

If y=cos(_tan,/x.»l) then find %

— dx
ol o p —— e
S s
x(1+leg x)

Solve : I-——d—x——7
x(l+log, x)”

e K VG

Jx

ekJI

Integrate : I 5 dx.
b <

ToTFEESR &} jsin4xcos3xdx.

Integrate I sin4x.cos3xdx.

dg F JHFAA ﬁl
3-4cosf
Int do
ntegrate - J 3 _4cos0

COSeC X = =
I CcOose dx & TEFEAA F{
cosec X +Cotx

: cosec X
Integrate . | —————————dx
§ COSEeC X +ColL X

syvAr & I Z I
1S5 x2=y

.-

15x 2=

INT-A-23/2501-1/10
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\
Ism“ vocos' xdy w1 T FITE @
1

Find the value of Ism - cos'? xdx.

-1

4
I ()\;__1; dx mm?ﬂﬁiﬁl

|

Dy2XT - x

Find the value of j’ 6x” -1

JQX - X

de &1\ T HL |

-/

j: cot O
tan®+cotO

cot0

n/2
Find the value of I tan0+cot0

Fﬂﬁ &Y Dy =2x2
xdx y= y.

Solve :xi"i—yzz;ﬂy_
dx

d ..
a'fa x+y=xy3 ﬁ} a—i—fﬂﬁaﬂ'h

d
If x+y=xy3thcn find d—z—

d
If y=(sinx)** then find a—%

[ 121/)5327 |

2

N
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RGN G a1

Ly,

17.

18.

MR x=

oy AU g
a(l-cos0), y=a(0+sind) al "(-,E e & |
LAl

g d
If x=a(1- cos0), y=a(0+sin0) then find <L

a0yl x +2y < 16

dx

& AT 2=3x47y &1 ST T T FY

Maximize Z2=3x+7y

subject to the constraints X+2y< 16

x>0, y=0.

arfrs
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O h

BT T FT L

Find the value of the determinan

1 2 4
t|1l1 3 6].
1 4 9

[ 121

zﬂ‘m{? : 3} B_[_i _g}a‘rwwﬁ,uﬁ:mﬁl-
2 3 4 2 -1

01 2 1 -2
If A=)1 2 3|,B=[-1 0/ then find AB, if possible.
2 3 4 2

ﬁ?@'ﬁ% l+2_]+ —l-: —?*7
aHaTg Byt & dF o §

4

= 5 i
Prove that 1 +2j +3k,

vertices of an equilateral triangle.

-*l—j+8/\ and

- -
+8k 3R -4i +4

INT A 2'3/ 501

LT

-5

-
j +6k

= o -
~4 +4j +6k
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20.

22.

23.

24.

[121/327]
.= A T - - > - - o :
AT a=217 + j+3Kk AN p=37 +5 -2k @ |a x b | AAHI 2
) - - - - -
+3k and b=3i +5j-2k thenfind | a x b |.
- - - > - 5 o -
A< a=7i -11j-16k, b=8i +3 j-5k a
e I > o . '

=-4i -3 j+5k @l |2a -3 b+4 c| T0d &I : 2
- - - - - - - - - -—.) - -
fa=7i -11j-16k, b=8i +3j-5k and c=-41i -3 j+5k

> o -
then find | 2a -3b+4c |.

| Wﬁ%(o%)w f(x)=sinxﬁﬁw.m%l | 2

Prove that t_he function f(x)=sinx is continuously increasing
in (O, i ) |

2 .
T y=x®—x+1 B W @ H EOE 39 g WoTmE w R
x-Te3® 2 ¢ | ‘ | ) 2

Find the slope of the tangent to the curve y=x3 —-x+1 at the point

whose x-coordinate is 2.

g FI " ........": Rx R » R shrfarmy fgamat d@fwmar == 1 2
Prove that " ............ ": Rx R - R is not a commutative binary
operation.

cosec | 2 FT HEA T T | 2

Find the principal value of cosec ' 2.
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- 27.

28.

29.

30.

[121,
: - 1
g =t cosec lx + sec 1x=§.lxl 21.

- -1 bid
Prove that cosec 1x+se<: x=-2-, [x]|21.

a_a:f x+2y+3z:6 T 3x-——3y—;-z:]_ %Wﬁmiﬂﬁmi

Find the angle between the planes x +2Yy+3z=6 and 3x-3y.,

g (4,-56) % a1 7.(4?-47472’):—6@@%#{'1

Find the distance of the point ( 4,

-

- 5, 6 ) from the P
— — —
r.(4i-4j47k)="56.

e X

=Z qur
1

N %
N |

ul|x
FNIIS

=£ F 99 F g7 w0 3 =

A bag contains 4 red and S white ballg and another bag conta:

all is taken out from each bag. Find !
and the other is black.

sﬁmﬁaérmmhémﬁhsﬁémaﬁmfaﬁmmm“.

S coins are tossed. Find the probability of getting €Xxactly 3 heads

HNT—A-23/2501—(1/10) '




[121/327 |
& I ¥ / Long Answer Type Questions :

mmmﬁssﬁéﬁﬁwm%lﬁﬁ#ﬁﬁ%4wﬁi%wium
& 1T 5 3w Fruifem 3

Question Nos.

4x5=20

31 to 38 are Long Answer Type questions. Answer any

4 questions. Each question carries 5 marks.

4x5=20

31, A #H ()(-2+y2)%% =2xy.

Solve : (x? Qd—y:
(x“+y )dx 2xy .

=
P
32. ﬁ?:a'ﬁ% tan™! \:-t-y Nl ¥ 1y, ) % 5

- )
+ tan 2 xge] =cot " Xx .#} 4#/
‘l/ﬂ
>
. -1_1 -1 y 1 + 47
Prove that tan +tan  ————— =cot™ x Qv
Yy x“+xy+1 OOy
]( ‘&/
N
. |la-b-c 2a 2a 0/ (X
33. ORI W UHEUE EE | 2b boc-a ob 5 1
2c 2c c—-a-b _(/w
/\)’\\l
::‘/
a-b-c 2a 2a Ny
Factorize the determinant : 2b b-c-a 2b K
2c 2c c-a-b
: i dy '
34, AT y = (sinx)°%% +(cos x SN~ @I I A | 5
in x )5 +(cos x)5™* then find dy
If y =(sinx) ar
45 T TgEs ®1 e ST H IS HE H A [0 Y 5

Find the mean of the number of heads in two tosses of a coin,

INT-A-23/2501-1/10)
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S gy 1 AT S

x+ys4
3x+8y < 24
10x+7y < 35
x,yz0 S
Maximize Z=5x+Ty
subject to x+y< 4
3x+8y < 24
10x+7y < 35
x,y=z0
2 | )
37. j(—-—-‘ )e“dxaﬂmmam 5
1\ X 2x*
t 1 1
Find the value of I(—————Jen dx .
L\ X 2x?
e - 9 o - - . .
38 [(i=2j+3k)x(2i +j ~k)|.( j+k) I O TG HL| 5

. - - 5 9 o -» 5
Find the value of [( i -2 j+3 k) x (2 i +j—k)]_(j+k)_

—————————

INT-A-23/2501 (1710 ‘__~“_F;§7£?7_"
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